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Estimating the Size of h

Microscopic Objects

Goal ° Use this page to help you develop your skill of estimating the size of objects under
the microscope.

Think About It

How do you estimate the size of the object you are viewing?
What to Do

Read the information below and answer the questions.

Part A: Estimating Object Size

1. Look at the four circles below. Assume that each circle below has a diameter of 2.5 cm.

(Diameter is the distance across a circle.) Use the following formula to calculate the exact size
. of one happy face in each of the circles:

il
Size of one happy face = Diameter of circle + Number of happy faces /

A
S, Y
‘& “;- cm i‘ 'ZS cm

Part B: Estimating Size Under the Mictoscope

e Once you know the diameter of the field of view of a microscope, you can estimate the size of the
object you are viewing. The field of view is what you see when you look through the microscope.
To find the diameter of the field of view, use a ruler to measure the distance across its centre.
The diagram below represents a field of view when looking at millimetre markings on a ruler.

millimelre

The diameter of the field of view
~ represented on the left is 2.5 mm.

e Most objects under the microscope are much smaller than a millimetre. Try using a smaller
unit, the micrometre (um). Multiply the field diameter by 1000 to convert it from
millimetres (mm) to-micrometres (um).

Convert the field of view represented above (2.5 mm) to micrometres:
The diameter of the field of view is 2500 pm,

' W = |O(.() (AN
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DATE: NAME:
Cell Size [BLm 1-t0

Goal  Use this page to practise estimating the size of cells in a field of view.

What to Do

Read the information given for each question. Answer the questions in the space provided.

1. As scientists, we must determine how small cells really are. To do this, we need to measure
the diameter of the field of view.
(a) What s a field of view?

The arery ; U _Sel ol é‘e‘.-%’/ﬂj ‘//z Ve é//( &S g&
(b) What is a diameter? ‘ ‘
The pne ol rert l/ , Yh Lo Az e ¢ 7/ e b

2. When Molly looks under a microscope, before placing her specimen on the stage, she
observes an empty field of view.
() Use your ruler to draw in the diameter of the field of view; that is, draw a line that cuts
the circle exactly in half. :
(b) What is the measurement of the circle’s diameter?

in centimetres __ /7' ' .;

in millimetres [ Z mm

3. Imagine that 10 cells of equal size fit across the diameter of the circle below.
(2) Measure the diameter of the circle. | £ wavn

(b) What is the span of the 10 cells? [£ vt
(c) What is the span of one cell? L F

d) Expla.m how you arrived at your answcr for quesu 71% ©).

<} om‘ ry (A4S s " s / :
{22 & u“ - FCefs A celr’s /-7 muc

4. If 10 equally sized cells fit across a field diameter.of 40 mm, what is the length of one cell?
Show your work.
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